BORILLA oPORTS

Barbell Long Bar Rack (10000769)




SHOORILLA oPORTS

Washer 210 Bolt M10%77 Nut MI10
,4
© b= 10
16x 6x 8x
Spanner

Y0~~~ O

2X




HUORILLA oPORTS

load 100KG

1040mm

Al
AL
~sm,, \ /

Maximum load 5H00KG




 — )

Bolt M10%77 8PCS

© @

Washer M10 16PCS Nut M10 8PCS

N\\Q%77 - /// T -
e~

=
@M\Q%T 1




	10000769说明书1
	10000769说明书2
	10000769说明书3
	10000769说明书4

